Directions (Questions 1-5): Choose the word nearest in meaning to the underlined word.

The waiter was polite and efficient, but not obsequious,
(1) dull (2) sycophantic (3) dishonest (4) deceiving

My friend Satish always controverts the ideas that are almost universally accepted.
(1) subverts (2) contradicts (3) endorses (4) confuses

The drunk driver had no idea that his foolish decision would reverberate and destroy the lives of
five families, %

(1) provoke (2) resound (3) grudge (4) dampen
Vandf;na knew her husband was lying, but she still agreed to corroborate the story in the court.
(1) refute (2) substantiate (3) repudiation (4) rebuff

The dim lighting of the restaurant makes eating there a lugubrious experience.
(1) chilling (2) gelid (3) elated (4) gloomy

Directions (Questions 6-10): In each of these questions, choose the option which can be substituted
Jor the given words.

6.

10.

Someone who studies the characteristics of different varieties of human race and the
relationship between them

(1) Ethologist (2) Entomologist (3) Ethnologist (4) Euthenics

Engaged in deep or serious thought
(1) Gullible (2) Pensive (3) Garrulous - (4) Ravenous

A number of stars grouped together forming a recognizable pattern
(1) Solar System (2) Constellation (3) Asteroids (4) Galaxy

A person who sneaks into a country
(1) Violator (2) Invader (3) Infiltrator (4) Interferer

A disease liable to be transmitted to people, organisms, etc. through air and water
(1) Catastrophic (2) Infectious (3) Epidemic (4) Plague
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Directions (Questions 11-15) : From amongst the options given below each word, choose the

appropriate plural form.
11, Switch

(1) Switchs (2) Switch (3) Switches (4) Switche
12. Cat

(1) Catty (2) Cats (3) Cat (4) Catts
13. Scarf E

(1) Scarves (2) Scarfse (3) Scarvies (4) Scarfes
14. Pouch

(1) Pouch (2) Pouchs (3) Pouchies (4) Pouches
15. Curriculum

(1) Curriculum (2) Curriculoms (3) Curriculume (4) Curricula

Directions (Questions 16-20): Choose the word which is opposite in meaning of the underlined

word.
16.

b7

18.

19.

20.

Her desire to hoard everything in the house, even the pickle jars, was driven by avarice.
(1) cupidity (2) altruism (3) kindness (4) stealth

After taking a big bite of the carrots, the baby showed his repugnance by spitting out his
mouthful.

(1) hatred (2) detestation (3) love (4) shock

Some of the classic novels are too abstruse for beginning readers to understand.
(1) obvious (2) detested (3) detained (4) rebuilt

Our special offers are intended to entice people to buy.
(1) allure (2) help (3) repulse (4) attract

She has always been tractable and obedient, even as a child.
(1) unsystematic (2) curious (3) submissive  (4) defiant
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Directions (Questions 21-25): Fill in the blanks.

21

22,

23.

24,

25,

Management can be called an exact science because management involves the study of human

beings and human behaviour and the of the experiments carried out to evolve
the principles of management are not capable of being accurately

(1) roles, responded (2) outcomes, predicted

(3) aftermaths, announced (4) resultants, answered

The voters must the political platform of the candidate which includes the
core issues the candidate promises to resolve during his or her term in office.
(1) solve, whose (2) include, who

(3) differ with, now (4) consider, which

An economic recession is by rising unemployment, increase in government
borrowing, of share and stock prices, and falling investment.

(1) characterized, decrease (2) visualized, abundance

(3) imagined, variance " (4) depicted, increase

Banks are from other corporates in important and that makes
corporate governance of banks not only different but also more critical.

(1) differentiated, manners, leads (2) diverse, policies

(3) similar/same, perspectives (4) different, aspects

The protection of basic human rights is an necessity for the

development of an individual.

(1) conclusive, total (2) absolute, fullest

(3) unconditional, marginal (4) provisional, essential

Directions (Questions 26-30) : In each of these questions, out of the given group of words, choose
the correctly spelt word.

26.

2l

28.

29,

30.

(1) Hypermanesia (2) Hypermenasia (3) Hypermenisia (4) Hypermnesia

(1) Resuscitate (2) Resusiciate (3) Resosciate (4) Resusciate
(1) Resosciation (2) Resuscitation (3) Resusication (4) Resusciation
(1) Apothesios (2) Apothesis (3) Apotheosis (4) Apotheisous
(1) Imbrogilio (2) Imborgalio (3) Imbrogio (4) Imbroglio
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Directions (Questions 31-50): Study the following passages to answer the questions that follow each

passage.

Passage-I .
One major obstacle in the struggle to lower carbon dioxide emissions, which are believed to play a
role in climate change, is the destruction of tropical rain forests. Trees naturally store more carbon
dioxide as they age, and the trees of the tropical rain forests in the Amazon, for example, store an
average of 500 tons of carbon dioxide per hectare (10,000 square miles). When such trees are
harvested, they release their carbon dioxide into the atmosphere. This release of carbon dioxide
through the destruction of tropical forests, which experts estimate accounts for 20% of global carbon
dioxide emissions annually, traps heat in the earth's atmosphere, which leads to global warming.
The Kyoto treaty set forth a possible measure to curtail the rate of deforestation. In the treaty,
companies that exceed their carbon dioxide emission limits are permitted to buy the right to pollute
by funding reforestation projects in tropical rain forests. Since forests absorb carbon dioxide through
photosynthesis, planting such forests helps reduce the level of atmospheric carbon dioxide, thus
balancing out the companies surplus of carbon dioxide emissions. However, attempts at reforestation
have so far been unable to keep up with the alarming rate of deforestation, and it has become
increasingly clear that further steps must be taken to curtail deforestation and its possible deleterious
effects on the global environment. One possible solution is to offer incentives to governments to
protect their forests. While this solution could lead to a drastic reduction in the levels of carbon
dioxide, such incentives would need to be tied to some form of verification, which is extremely
difficult, since most of the world's tropical forests are in remote areas, like Brazil's Amazon basin or
the island of New Guinea, which makes on-site verification logistically difficult. Furthermore, heavy
cloud cover and frequent heavy rain make conventional satellite monitoring difficult.
Recently, scientists at the Japan Aerospace Exploration Agency have suggested that the rates of
deforestation could be monitored using new technology to analyze radar waves emitted from a
surveillance satellite, By analyzing multiple radar microwaves sent by a satellite, scientists are able to
prepare a detailed, high resolution map of remote tropical forests. Unlike photographic satellite
images, radar images can be measured at night and during days of heavy cloud cover and bad
weather. Nevertheless, critics of govemnment incentives argue that radar monitoring has been
employed in the past with little success, citing the Global Rain Forest Mapping Project which was
instituted in the mid 1990s amid concern over rapid deforestation in the Amazon. However, the
limited data of the Mapping Project was due only to the small amount of data that could be sent from
the satellite. Modern satellites can send and receive 10 times more data than their predecessors of the
mid 1990s, obviating past problems with radar monitoring. Furthermore, recent technological
advances in satellite radar that allow for more accurate measurements to be made, even in remote
areas, make such technology a promising step in monitoring and controlling global climate change.

31. Which one of the following most accurately expresses the main point of the passage?

(1) Although scientists continue to search for a solution, there is, as yet, no good solution for
the problem of rain forest deforestation. -

(2) One major obstacle to lessening the contribution of atmospheric carbon dioxide caused by
deforestation may be removed through satellite radar monitoring.

(3) Recent increases in the rate of deforestation of tropical rain forests have caused serious
concern and spurred efforts to curb such deforestation.

(4) Although an excellent first step, the solutions set forth by the Kyoto treaty will not
significantly curb the rate of deforestation unless companies begin to lessen their carbon
dioxide emissions.
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32, Itcan be inferred from the passage that photographic satellite images
(1) are impervious to bad weather.
(2) cannot be used efficiently at night.
(3) are less expensive than radar monitoring.
(4) were extensively used in the 1990s to measure tropical forest deforestation.

33. Which one of the following most accurately describes the author's attitude toward radar
monitoring as expressed in the passage?
(1) Wary skepticism (2) Cautious ambivalence
(3) Grudging respect (4) Reasoned optimism

34. The information presented in the passage implies which one of the following about the Mapping
Project? :
(1) The project was unsuccessful because it used only satellite radar monitoring,
(2) If the satellite had been able to send more data, the project may have been successful.
(3) It was established by the Kyoto treaty in response to widespread concern over deforestation.
(4) The project was designed to monitor only forests in Brazil's Amazon basin and the forests
on the island of New Guinea.

35. According to the passage, each of the following is true about tropical rainforests EXCEPT
(1) harvested trees release carbon dioxide.
(2) they are sometimes subject to heavy cloud cover.
(3) they are protected from deforestation by the Kyoto treaty.
(4) they are not always easily reachable by modern transportation.

Passage-II

Changes in lifestyle are ushered in primarily by growing urbanization. With urbanization, availability
of food that can be purchased in small quantities, stored easily and cooked easily would attract greater
demand. Fresh looks, standardization in looks and quality would fetch better price. New foods would
attract urban consumers. There may be quicker convergence of tastes across income groups in the
urban setting than in rural settings. Although rural life was synonymous with nutritious food, the
urban population may yet embrace better nutrition. Diversification of the food basket is likely to be
faster in the urban setting. Diversification of food in terms of rising share of fruits, vegetables and
livestock products is one change in demand that the farm sector would have to re-orient its supplies
to. While there are the inevitable supply-side bottlenecks, demand may rise sharply and quickly as a
result of shifts in tastes and preferences. What might facilitate diversification of the food basket are
the improvements in consumption infrastructure. Urban population growth will spur demand for
higher value food items. Sustained growth of farm income will require urban growth and support for
diversification of the food basket by the consumers. Creating better urban infrastructure for the food
industry will help the farm sector. A change in consumption patterns is likely to benefit small as well
as large farmers so long as they can make the changes in their output composition. Urbanization will
make demands on land and water, but will also raise the demand for high-value farm output.
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36. The author of the passage appears to believe that growing urbanization
(1) is a necessary evil for progress.
(2) is the only reason for changes in lifestyle.
(3) is a major factor affecting lifestyle changes.
(4) leads to higher incidence of lifestyle diseases.

37. What, according to the passage, is the major challenge that growing urbanization, and the
resultant growth in demand would throw up?

(1) Farmers would have to find more efficient ways to ensure continuous supply of farm
produce to urban areas. '

(2) More playgrounds would have to be made available for the children to play in.

(3) More and better roads would have to be built in the cities for the farmers' to ply their carts
and tractors.

(4) All these

38. It can be inferred from the passage that
(1) urban growth is pushing the farmers to shake off their habitual laziness and increase farm
output.

(2) growing urban demand for farm produce is leading to unhealthy competitiveness amongst
farmers.

(3) food packaging industries would have to come up in villages to keep pace with urban
demands for convenience foods.

(4) growing urbanization would lead to improvements in rural lifestyles also.

Passage-III
Twenty-first-century readers can be broadly divided into two categories: those who read e-books (in

an electronic, digital format) and those like me who prefer to curl up with the original printed version.
And so what if the world's largest online retailer Amazon announced that it was selling 105 e-books
for every 100 print books? Amazon also announced that sales of print books were going up. Going to
bed with a paper-back or hardcover may be old-fashioned, but 'you can fall asleep while reading
without worrying about the battery life of the e-reader. "As we get older, we get honester," goes the
first line of Yevgeny Yevtushenko's 1956 Russian poem, Zima Junction. As we get older, we also get
more sleepless. And for those who like to read, nothing can be as soothing as a book that makes you
forget the problems that keep you awake and takes you away to a different world until you fall asleep.
Even the most sophisticated e-reader is not as user-friendly as a paperback or a hardcover that you
can carry in all kinds of weather (from snowstorms to tsunamis) and wherever you go (from the
office, the park and the zoo to the hospital or even the metro that has just started rolling in India's
pensioner’s paradise-turned-Silicon Plateau). You can even take a book to war. A copy of Three Men
in a Boat (one of the funniest books in English literature, first published in 1889) was found in the
knapsack of a British soldier who was killed at Spion Kop during the Boer War of 1900. Watch a
telecast of any cricket match anywhere in the world and the camera invariably zooms in on that one
male or female spectator who is reading a printed book, with the cameraman voyeuristically trying to
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give the viewers a glimpse of the cover and title. Maybe, one day, someone will publish a book titled
What to read at the match! In the very first summer after World War-II ended and cricket resumed in
England, the poet-turned-sports commentator John Arlott wrote a book, Off for the cricket. Which
perhaps explains why Arlott was called the voice of summer. The print books cost less in comparison
to e-reader. Books remain the ideal gift for all occasions and festivals. I have forgotten much of what

they taught me at schools, but I remember the books presented to me at annual prize distribution
functions.

39.  Which of the following statements could be inferred from the passage?
(1) Sales of books is increasing; while sales of print books is declining.
(2) E-books are surely going to phase out print books in the not-too-distant future.
(3) Sale of e-books by Amazon has been higher than the sale of print versions.
(4) All these

40.  The author believes that books make the ideal gifts because
(1) they are inexpensive and affordable.
(2) they could be presented on all occasions including festivals.
(3) books remain with you forever even though memories fade away with time.
(4) they could be on a myriad of topics.

41.  Where all do people possibly carry books to read; as per the author?
A. To war B. To Cricket matches C. To office
(1) B only (2)Band C (3) C only (4)A,Band C

42.  What are the advantages offered by print books, as outlined in the passage?
L. These help forget the worries that make you sleepless.
Il. Book reading is a favourite habit of people the world over.
II1. These cost less money than buying an e-reader.
(1) II only (2) IT and 111 (3) I and I11 (4) I, Il and III

Passage-1V

A leading Indian industrialist in a recent article on ways to strengthen India’s economy has drawn
attention to the problems of inflation and industrial sickness among other things. One of the main
reasons for industrial sickness in our country has been the fact that business and industrial managers
have not been able to look beyond the immediate future. They have been too preoccupied with their
attempts to report favourable results for the current year—higher profits and larger dividends to the
shareholders. The planning horizon has hardly ever exceeded five years. Investments have been
inadequate for new plants and towards diversification and expansions. Modernisation and asset
creation has seriously lagged behind. In business, growth is needed for survival; one has to grow if
one does not want to be wiped out. This is particularly true today with liberalisation of imports and
increasing competition. Moreover, growth and higher productivity create employment and higher
employment creates larger markets both for industrial and consumer products. It was Henry Ford who
brought home the need for the creation of a larger and a more stable middle class. That is, a larger
number of people who can afford more and more of goods and services. Even after seventy years of
independence our industrialists have not been able to shed the petty shopkeeper’s mentality and our
highly educated management has tagged along merrily and without concern,
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43. Which of the following short-comings of Indian industrialists has been highlighted by the
author ?
(1) They invest an unreasonably high amount on diversification and expansion. .
(2) They are more concerned for immediate net gains than for developmental activities.
(3) They are reluctant to maintain the shopkeeper mentality.
(4) They are less concerned for payment of dividends to shareholders.

44. The leading industrialist attributes industrial sickness mainly to
(1) lacunae in five-year plans.
(2) preoccupations of managers with matters unrelated to business.
(3) higher profits and larger dividends to shareholders.
(4) lack of foresight among managers.

45. Why did Henry Ford stress the need for a more stable middle class 7
(1) They are mostly service oriented.
(2) They do not have shopkeeper mentality.
(3) They can afford to buy more and more goods and services.
(4) They are most unstable.

46. The planning horizon has hardly ever exceeded five years’ implies
(1) planning should not be for a period of less than five years.
(2) the planning process is very time consuming.
(3) five-year period is too short for successful implementation of plans.
(4) the planners are not inclined to think of future.

Passage-V
Entrepreneurs and investors, who had only recently found innovative ways to invest in education as
business are concerned about the financial impact of the Supreme Court ruling last week upholdin,
the Right to Education Act. All schools, except minority unaided ones, will now have to set asid
25% of seats for poor students. While most investors welcome the move, they also worry that fundin
the gap between the government subsidy for these seats and their actual costs will hurt them. "Th
Act poses two concerns to investors, especially those who are investing in schools. One is th
financial impact of the Act on the institution, and two, the impact on the quality of education," says
PE investor who does not want to be named. The concept of schools as a business is at odds with th
government's stated position on the issue. The government mandates a not-for-profit ‘trust’ structw
for all schools from kindergarten till class 12, or K-12 schools, saying schools shouldn't be run like
business. The non-profit structure is not mandatory for international schools, education service
providers and school management companies. Investors and entrepreneurs run the latter two i
for-profit companies that provide consulting to not-for-profit schools. Says the chairman, Team Lea:
Services: "Just as government subsidies do not reach those who need it, 25% of seats will not go-
the poor. RTE will not get our kids educated, but declares war on education entrepreneurship
Investors are worried that the government will not be able to fund the fees private schools charg
Besides, such a system may have a psychological effect on children from underprivileg
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backgrounds. Getting children into school was the battle of 1990s. Today, the issue is preventing
dropouts, which RTE doesn't ensure. Another investor said that the move will hurt class 3 and class 4
unaided private schools that cater to low- and middle-income groups. According to the promoter and
director of Pathways World School, the main concern is funding the gap between the government
subsidy and their actual costs, "We need to work out a cross subsidization model," he says. He is
talking to corporates to give scholarships to students as part of their CSR activity. Pathways World
School, the Delhi-based IB curriculum group of K-12 schools, raised its only round of equity of a
little over Y100 crore from Reliance Equity Advisors.

47. It is implied in the passage that
(1) education at school level is being run as a highly profitable business by entrepreneurs and
investors. .
(2) minority unaided schools are the only institutions that are not running profitably.
(3) minority unaided schools are non-profit educational institutions.
(4) school education is being run as a business by several institutions.

48. What are the concerns related to the implementation of the Right to Education Act, as brought

out in the passage, for the various stakeholders?

A. Profitability of investors will be adversely affected.

B. The Hon'ble Supreme Court is interfering in the efficient running of schools, a case of
Jjudicial activism.

C. Children coming from the poorer families may not be able to cope up with the existing
general standards of education if they were to join in the referred private schools,

(1) A only (2)AandC (3) B only (4) A,Band C

49. What, according to the passage, is/are the relevant aspects not touched upon by the Right to
Education Act?

(1) The loss of income for the families of the poor children who would 20 to school instead of
work.

(2) Would the poor students who get free admissions to schools be able to afford the other
related costs such as books, uniforms, etc.?

(3) How the income disparity between the families of the other students and the poor students
would affect the latter? ;

(4) None of these

50. Itcould be inferred from the passage that with the implementation of the RTI Act,
(1) the government will subsidise the education of poor students in private schools.

(2) 25% seats in all schools, except minority unaided institutions, will definitely get filled by
poor students.

(3) corporates will have to step in to fund the education of poorer students under the 'CSR' head.
(4) All these
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51.

32.

33.

54.

55.

56.

37.

38.

L)

A contractor pays 25% more to a male worker than what he pays to the female worker. How
much percent less does the contractor pay to the female worker than the male worker?
(1) 20% (2) 21% (3) 22% (4) 24%

Mr. X bought a pocket calculator which he sold at a loss of 10%. His loss on the selling price is

1 1 1 1
1) 33-% 2) 20- % o =
(1) s (2) = (3) 1?2% (4}119%

The compound interest on a certain sum of money for 2 years is Y408 and simple interest is
400. Find the rate of interest. s

(1) 3% 2) 5% (3) 4% @) 7%
How many seconds will a train 120 metres long running at the rate of 54 km. an hour take to
pass a certain telegraph post?

(1) § seconds (2) 9 seconds (3) 12 seconds (4) 8 seconds

A retailer buys a cellphone at a discount of 15% and sells it for ¥5865. Thus, he makes a profit
of 15%. The discount is
(1) 2200 (2) 7850 (3) 2750 (4) 2900

A boy was asked to find the value of % of a number. Instead of multiplying the number by

%, he divided the number by % and his answer exceeded the correct answer by 950, Find the

correct answer,
(1) 490 (2) 470 (3) 510 (4) 475

If * means adding 6 times the second number to the first number, then (1*2)*3 equals?
(1) 121 (2) 10 (3) 93 (4) 31

The average weight of 36 students is 50 kg. It was found later that the weight of one of the
student was misread as 73 kg whereas his actual weight was 37 kg. Find the correct average?

(1) 49kg (2) 45 kg (3) 47 kg (4) 43 kg

Suresh and Mahesh invested equal amounts in two banks for 2 years at 11% and 12% per
annum. If Mahesh got 82 more, the sum invested by each is I
(1) T4100 (2) T2500 (3) 3200 (4) 3700

Out of 144 persons working in an office, 56 are men and the remaining are women. Find the
ratio of number of women to number of men.

3 7 5 11
(1) 3 (2) n (3) 3 (4) 7
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Directions (Questions 61-65): Study the information carefully and answer the following questions.
Four politicians-P, Q, R, and S from four different political parties-Progress, NJP, BCP and Shourya
Sena are sitting around a square table discussing a political situation (not necessarily in the same
order). All four are sitting at the four sides of the table and are facing inside.

i. S sits opposite the politician from NJP.

ii. R sits 2" to the right of the politician from Shourya Sena.

iii. The politician from Progress sits adjacent to the politician from NJP.

iv. Q is not from Progress.

v. The politician from BCP sits between S and R.

vi. P sits to the immediate left of S.

61. Which of the following pairs sits adjacent to each other?

(1) Sand Q (2) Pand Q
(3) Rand S (4) Can't be determined
62. Whieh of the following pairs represents politicians from parties who sit opposite each other?
(1) Shourya Sena and Progress (2) NJP and BCP
(3) Shourya Sena and NJP (4) Can’t be determined
63. Who amongst the following is the politician from NJP?
(1) P (2)Q
()R (4) Can’t be determined
64. Which of the following politicians sits to the immediate left of the politician from BCP?
(HP 2) 8
3)R (4) Can’t be determined

65. Which one of the following statements is true according to the arrangement?
(1) P is from Progress and sits opposite the politician from NJP
(2) R is from NJP and sits adjacent to the politician from Shourya Sena
(3) R is not from Progress and sits to the immediate right of Q
(4) None of these

Directions (Questions 66-69): Assume that the relationships mentioned are universal and do not
take into account any exception from any particular community. Also do not assume the gender of a
person from the name mentioned.

i. A#B means A is the sister of B

ii. A % B means A is the father of B

ili. A x B means A is the mother of B

iv. A+ B means A is the wife B

v. A -B means A is the husband of B

vi. A @ B means A is the brother of B

66. Which of the following is the relation between N and A if it is known that N % L # A?
(1) Uncle (2) Grand father (3) Brother-in law (4) Father

67. Which of the following shows that N is the uncle of M?
(DN@L-AxM (2)N-L+AxM B)N@L-A#M N@LxA%M
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69.

70.

71.
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68. Which of the following shows that N is the mother of A?

() N-LxA (2)N-L%A (B)N+L%A AON@LxA
69. Ifit is known thatN% L @D x M, how is N related to M?

(1) Sister (2) Unecle

(3) Maternal Grandfather (4) Father

Directions (Questions 70-72) : Find the missing number in the series.

70.

71.

g 5.

11, 20, 33, 42, 55, 7

(1) 67 (2) 65 3) 64 (4) 61
A9P, C8R, ETT, * | I5X, K4Z

(1) F5W - (2) H5X (3) G6V (4) G6T
KPG, LQF, MRE, NSD, *?’, PUB

(1) ouC (2) UPC (3) OPC (4) OTC

Directions (Questions 73-75) : Find the odd one out in the series.

73.

74.

75.

76.

T1.

78.

79.

E3T, D4, CSR, D6R, A7P, Z80

(1) CSR (2) E3T (3) D6R (4) Z80
ABC, DCF, EEL HFL, EGP, LIR

(1) DCF (2) HFL (3) LIR (4) EGP
ABC, BDF, CFl, DHL, EJM, FLR

(1) BDF (2) DHL (3) FLR (4) EIM

Mr. Abhimanyu said to Chandan, "That person standing there is my father’s unmarried sister’s
only sister-in-law’s daughter”, How is that person related to Abhimanyu?

(1) Sister (2) Brother

(3) Cousin : (4) Can’t be determined

(1) Daughter (2) Sister
(3) Niece (4) Can’t be determined

Pulkit, Jhanvi, Rohit, Srishti and Tanvi are sitting on a bench, Pulkit is sitting next to Jhanvi but
Rohit is not sitting with Tanvi who is sitting on the left end of the bench, Rohit is sitting on the
2" position from right. Pulkit is to the right of Jhanvi and Tanvi. Pulkit and Rohit are sitting
together. What is the position of Rohjt?

(1) 2™ to the right of Jhanvi (2) 2™ to the left of Jhanvi

(3) To the immediate left of Tanvi (4) To the immediate right of Tanvi

In a certain code PARTICULATE is written as APTRCILUTAE. How is SOLUBLE written in
that code?
(1) OSULLBE (2) ELBULOS (3) OLLUSBE (4) OSULLEB
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Directions (Questions 80-82): For the Assertion (4) and Reason (R) below, choose the correct
alternative from the following:
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.
80. Assertion (A): Central intelligence agencies in India have issued a high alert to security forces
and state governments across the country in the wake of the Republic Day.
Reason (R): The central intelligence agencies have come across intelligence about possible
lone wolf attacks by ISIS operatives targeting high risk dignitaries in the run up to the Republic
Day. -

81. Assertion (A): Native people of regions which receive higher duration and intensity of sunlight
have darker skin color.
Reason (R): Higher levels of melanin gives a darker color to the skin and greater exposure to
sunlight leads to production of more melanin in the skin.

82. Assertion (A): All animals who live under water are categorised as amphibians.
Reason (R): Amphibians are small vertebrates that need water or a moist environment to
survive.

Directions (Questions 83-85): The questions given below have a statement followed by two
conclusions I and Il. Decide which of the conclusions follows from the statement. Mark answer as

(1) if conclusion I follows

(2) if conclusion II follows

(3) if neither conclusion I follows nor I follows

(4) if both conclusions I and II follow

83. Statement
Men and women undergo different experiences in life; they differ in their knowledge and
attitude towards risks, and their financial needs. As financial planning is a very personal
exercise, there is a need to look at the course of action for women, differently.
Conclusions:
[. Men and women can be said to have different financial needs in their life.
II. Knowledge and attitude towards risks has a significant impact on financial planning.

84. Statement
Meditating on the situation in our life is not the same as day-dreaming.
Conclusions:
I. Most often meditating on the situation in our life is confused with day dreaming.
II. Meditating is better than day-dreaming.

85. Statement
All types of volcanoes are not calderas but all types of calderas are volcanoes.

Conclusion:
I. Calderas are formed as a result of violent volcanoes.
II. All the characteristics of a calderas are also the characteristics of volcanoes.
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86.

87.

88.

89.

90.

91.

92.

93.

94.

Who became the first woman in India’s military history to be posted in any Indian mission
abroad by sending her to Moscow as deputy air attache?
(1) Anupama Joshi (2) Anjali Singh (3) Shaliza Dhami (4) Bhawana Kanth

Who has become the first Lieutenant Governor of the new union territory of Jammu and
Kashmir?

(1) Radha Krishna Mathur (2) Girish Chandra Murmu

(3) Prahlad Singh Joshi (4) None of these

Which country has won the 9 edition of 2019 men’s Rugby World Cup played in Japan?
(1) England (2) New Zealand (3) South Africa (4) Wales

Which Asian country has recently announced to relocate its capital city to the province of East
Kalimantan on the Island of Borneo? :

(1) Brunei (2) Indonesia (3) Thailand (4) Maldives

In August 2019, which country has become first in the West Asia to launch the “RuPay Card”,
Indian indigenous system of electronic payment?

(1) Israel (2) United Arab Emirates
(3) Saudi Arabia (4) Jordan

Which vitamin is provided by Sunlight to human body?
(1) Vitamin A (2) Vitamin B (3) Vitamin C (4) Vitamin D

During India’s freedom movement, the Simon Commission visited India to
(1) discuss the demand for the formation of Pakistan.

(2) enquire into the progress of responsible Government in India.

(3) see the important historical places.

(4) None of these

Who was the last Governor General of India?
(1) Lord Wavell (2) Dr. Rajendra Prasad
(3) Lord Mountbatten (4) C. Rajagopalachari

Who among the following is popularly known as the Father of the Indian Constitution?
(1) B R Ambedkar (2) Mahatma Gandhi
(3) Pt. Jawaharlal Nehru (4) Sardar Vallabhbhai Patel
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95.

96.

97.

08.

99,

100.

101,

102.

Who appoints the Chief Election Commissioner of India?
(1) President of India (2) Prime Minister of India
(3) Parliament of India (4) Chief Justice of India

The functions of the Comptroller and Auditor General of India include auditing and reporting
on the receipts and expenditure of

(1) Union Government only.

(2) State Government only.

(3) Union and State Governments. 3

(4) Union and State Governments and companies substantially financed by both of these.

How many members from the Anglo-Indian community can be nominated to Lok Sabha
(Parliament of India) by the President of India?

(1) Two (2) Four (3) Five (4) Six

Which is the largest Public Sector Bank in India?
(1) Bank of Baroda (2) State Bank of India
(3) Punjab National Bank (4) Canara Bank

What does ‘Utility’ in economics mean?
(1) The capacity to provide comforts. (2) The capacity to earn an income.
(3) The capacity to satisfy human wants. (4) The capacity to satisfy human motives,

What is the reason for cloudy nights being warmer than clear nights?
(1) Clouds radiate heat :

(2) Clouds prevent terrestrial radiation from escaping to the space
(3) Clouds absorb the radiation from the sun

(4) Clouds reflect the insolation

Where are the Hot Deserts of the world generally found?
(1) Near the Equator (2) Near the Doldrums
(3) Near the Tropics (4) Near the Tundras

Which of the following Indian states is landlocked?
(1) Andhra Pradesh (2) Bihar
(3) West Bengal (4) Kerala
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103.

104,

105.

106.

107.

108.

109.

110.

Which Indian celebrity launched his/her fashion brand ‘One8’, in collaboration with PUMA,
comprising sportswear, performance apparels and footwear?
(1) Akash Ambani  (2) Varun Dhawan  (3) Virat Kohli (4) Manika Batra
Fashion brands ‘Imara’, ‘Ms. Taken’ and ‘Wrogn’ belongs to which of the following Indian
companies?
(1) Universal Sportsbiz Pvt Ltd (2) Sutlej Textiles and Ind. Ltd
(3) Madura Fashion & Lifestyle (4) TCNS Clothing Co Pvt Ltd
‘Atulyaa’, the popular fashion jewellery collection inspired from the rich and intricate
architecture of Mughal era palaces is from the house of \
(1) Amrapali Jewels (2) P C Jeweller
(3) Senco Gold & Diamonds (4) Reliance Jewels
Who is the Chairman of the “Fashion Design Council of India’ (FDCI)?
(1) Rahul Mishra (2) Varun Bahl (3) Sunil Sethi (4) None of these
‘Color Plus’ and ‘Park Avenue’, the popular men’s apparel brands belongs to which of the
following Indian companies?
(1) Raymond Group (2) Reliance Industries
(3) Siyaram Silk mills (4) Aditya Birla Group
Match the type of Indian Embroidery and region it belongs to.

Indian Embroidery Region

a. Zardozi I. Karnataka

b. Kasuti ii. Uttar Pradesh

¢. Lambadi iii. Andhra Pradesh

d. Sujani iv. Bihar

(1) a-i, b-ii, c-iii, d-iv  (2) a-ii, b-i, c-iii, d-iv  (3) a-ii, b-iii, c-i, d-iv (4) a-iii, b-ii, c-iv, d-i

Which Kenyan marathon runner became the first person to run a marathon in under two hours
by finishing it in 1 hour 59:40 minutes in October 20197

(1) Eliud Kipchoge (2) Dennis Kipruto Kimetto

(3) Robert Kiprono Cheruiyot (4) Geoffrey Kiprono Mutai

Who has been selected as the 47 Chief Justice of Indja?

(1) Sharad Arvind Bobde (2) V Ramasubramanian

(3) Krishna Murari (4) None of these
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Directions (Questions 111-135): Read the Jollowing business situations to answer the questions
given at the end of each situation on the basis of information provided.

Situation-I

China’s Lenovo Group Ltd—on track to become the world’s top maker of personal
computers—reported a record quarterly profit, up by a third from a year earlier, as it gained more
share in the PC market and made inroads in the smartphone business. The ThinkPad maker—China’s
No. 2 smartphone vendor—said on Wednesday that net profit in the October-December quarter had
risen to $204.9 million, beating an average estimate of $178.4 million in a Thomson Reuters I/B/E/S
poll of 11 analysts and exceeded its record of $172 million in three months ended December 2018. In
the third quarter, overall revenue grew 12% from a year ago to $9.4 billion, with bulk coming from its

profitability for the first time during the quarter. As PC demand growth slows, Lenovo has been
diversifying into the mobile device sector to tap robust demand for smartphones and tablets,
particularly at home in China. “However, it will face challenges in the sector as companies like Acer
and Asustek roll out cheaper tablet PC models to aggressively target markets such as China, which is
Lenovo’s traditional stronghold,” she added.

111. In the personal computer (PC) sector, Lenovo is Hewlett Packard.
(1) well behind (2) marginally behind
(3) marginally ahead of (4) substantially ahead of

112. Lenovo has entered the market of mobile phones due to which of the following reasons?
A. PC demand has increased in the recent past.
B. PC demand has decreased in the recent past.
C. Demand for mobile phones has increased now.
D. Demand for mobile phones has decreased recently.
(1) Aand D (2)Band D (3)CandD (4) Band C

113. The smartphone business of Lenmrp in China has
(1) never been profitable. (2) always been most profitable.
(3) been profitable only recently. (4) None of these

114. In the PC sector, Lenovo has market share recently.
(1) never gained (2) gradually gained
(3) quickly gained (4) gradually lost
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Situation~IT
Eureka Forbes, leader in the ¥3,800-crore water purification systems market, is betting big on
“customized solutions’ to expand its footprint, Eureka Forbes has mapped the water quality in over 85
per cent of India’s pin-codes over the last 15 years. “This holds us in good stead in offering solutions
for over 17 different types of water conditions in the country so far,” said Senior Vice-President
(Marketing), Eureka Forbes Litd, It recently moved up the value chain from Just ‘pure’ to position its
products on the ‘health’ platform, with its new tagline *More than just pure. Healthy water’, Based on
its internal feed-back system, the company undertakes various research programmes across the
country to understand the needs of different sets of consumers. Over the last 30 years, Aquaguard has
invested heavily in research and technology to understand customer needs and customize solutions
and products to suit every water type in India. For instance, it has launched mobile water purifier
Aquaguard-on-the-Go, he said. Fureka Forbes is expanding its retail network to cover tier-II and
tier-III markets. Initially, a pure-play direct sales company, it now has a significant presence in retail,
franchised, rural, institutional community, and e-tail platforms. VP says the rural market holds high

affordable purification units for rural markets.” It has set up water kiosks in several tier I and tier I
towns that sell water at 15 paise a litre. So far, it has established over to 200 such kiosks in the
country. It also proposes to set up such kiosks in major cities including Chennai, Bangalore, Mumbai
and Kolkata. But it may not sell a litre at 15 paise, as cost of running those kiosks in major cities will
be much higher. “We are planning to do some pilots before we launch them,” he said, The market for
water purifiers in the country is growing at 15 Per cent year on year. Many homegrown and global
brands have jumped into the fray. “We welcome all competition. It fuels innovation and eventually
that will benefit the consumer,” says VP,

115. Eureka Forbes is focusing on rural market due to the fact that
(1) it holds tremendous growth potential.
(2) Eureka Forbes plans to provide pure water at a reasonable price to rural areas.
(3) it has already made units for rural markets.
(4) All these

116. Eureka Forbes has made efforts to study quality of water in various locations and
(1) has covered only some areas.
(2) these efforts have not been much successful.
(3) has already covered a large area of the country.

(4) None of these
117. Consequent to research to observe needs of various categories of people, Eureka Forbes now
plans to offer
(1) generic solutions. (2) customized solutions.
(3) one-time solutions only. (4) one solution for all.

118. As per the case, which of the following statements is not true?
(1) Eureka Forbes is quite averse to competition.
(2) Eureka Forbes pays adequate attention to research.
(3) Eureka Forbes has set up some outlets to supply pure water at a reasonable cost in small
towns.
(4) None of these
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Situation-III _

The Government is being antediluvian by raising the import duty on gold. The official reasoning
being that higher taxes will make gold imports more costly and tame India’s legendary appetite for
the yellow metal. What will most likely happen is supplies will move to unofficial channels,
depriving the Government the revenue it is deriving now from legitimate imports, All this will do
little to arrest demand. India imported more gold after the customs duty was raised less than a year
ago. Gold exchange traded funds were launched in India on the premise that the underlying
asset—typically one gram of gold—would be available for redemption at any point by its owner. By
allowing gold funds to lend some of their bullion to banks, holders of paper gold will move to
fractional ownership, where the underlying asset does not reflect the market price. The 1962 gold
control order banning ownership of coins and bars pushed the entire trade underground. From 1992,
when the Government re-allowed official imports, demand has been climbing steadily, as India keeps
buying more gold than any other country despite a 12-year international bull run in bullion prices. A
forward-looking solution would have looked at providing Indians a credible inflation hedge that can
ease the pressure to buy gold and expand financial intermediation to the countryside where most of
the people have no option but to salt away their savings in jewellery.

119. As per the situation, due to rise in duty on gold, the demand of gold will
(1) decrease drastically. (2) increase substantially.
(3) not decrease much. (4) remain same.

120. In the past, when Government has allowed imports of gold, the demand has
(1) suddenly declined. (2) declined slowly.  (3) risen suddenly. (4) risen slowly.

I21. As per the situation, restrictions and raising duty on imports of gold leads to

(1) more tax collections. (2) unauthorized trading.
(3) increased legal transactions. (4) All these
Situation-IV

After ruling the mass glucose segment, Parle is tilting its portfolio towards premium biscuits, with a
special focus on the cream segment. With growth rates at 25 per cent in the premium cream segment,
Parle’s nearest competitor, Britannia, dominates with a 30 per cent share, along with new competitors
such as Kraft Foods (Oreo) and ITC also rapidly gaining share in the segment. Getting volumes and
market share at the premium end of the cream segment is now a priority for the Mumbai-based
company. Unlike the glucose segment, it is yet to make a mark in growing segments such as cream
biscuits. Competition has been increasing with new players such as ITC and Kraft Foods increasing
their offerings in this segment. Today, Parle has a 25 per cent share in the cream segment while new
players such as ITC have already cornered 15 per cent share along with Kraft Foods’ Oreo brand
garnering 10 per cent share. Parle has recently re-launched a premium glucose variant with new
packaging, The purpose is to get better margins in the glucose segment. Despite the slowdown,
biscuit as a category has been relatively unaffected even at the premium end. There continues to be
good growth for biscuits and thankfully profitability has not been affected. Even prices have been
kept on hold despite input cost inflation, Major ingredients such as wheat flour, edible oil and sugar
used in biscuits have stabilized in the past year. Prices of ingredients used in biscuits have remained
stable and companies are not looking forward to raising prices.
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122. Parle wants to increase business in the cream biscujt segment due to

(1) not much competition. (2) low cost of production.
(3) high growth in this segment, (4) None of these
123. In the past, which of the following has been the most popular brand for making glucose
biscuits?
(1) Britannia (2) Kraft Foods (3) Parle 4) ITC
124. Currently which of the following has the second largest share in the cream biscuit segment?
(1) Parle (2) ITC (3) Kraft Food (4) None of these
Situation-V

British luxury brand Burberry is making a concerted effort to reach out to high net worth individuals
(HNIs) in India and China, even as investors have hammered the company’s stock 30% since July
due to its expansion plans in Asia. The American CEO of the 155-year-old firm said the company is
relying on social media to connect with Asian HNIs who are on average 15 years younger than their
counterparts in the developed economies. She said the company is also aligning its product mix for
these markets. “In India, there is a very strong male market, as in China, so we have had to relook at
our men’s offering. We are listening to our customers here, and have started our accessories
business.” “We have a five-year plan for India, of which we have barely covered half. But we expect
India to be a big market.” In India, Burberry already has more than half a million Facebook fans.
Apart from its Facebook and Twitter campaigns, in China the company is using four local social
media sites.

125. Burberry, the British luxury brand, is reaching out to the HNIs in India with
(1) fashion apparel amongst others.
(2) fragrance and fashion accessories amongst others,
(3) investment options.
(4) All these

126. Burberry’s marketing strategy for India
(1) has to be same as that for China.
(2) has to be same as for the rest of Asia.
(3) would have to involve relooking at the men's offering,
(4) is expected to result in the company’s stocks rising by 30%.

127. What is the reason for Burberry to be hopeful of Asian markets contributing more than one third
of its global revenues?
(1).Asia is a bigger market for fragrances,
(2) India and China are very strong male markets,
(3) The company’s stock market value has been hammered 30% since announcement of its
expansion plans in Asia.
(4) India and China are producing more billionaires than the rest of the world.
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Situation-VI

Godrej Appliances Division has undertaken an initiative to ensure a green supply chain at its Shirwal
plant in Satara, Maharashtra. One of the largest players in the home appliances segment, the Godrej
group has consistently manufactured products that are green. Though Godrej Appliances launched the
country’s first 100 per cent green refrigerator series in 2002, (CFC, HFC and HCFC free), the
company's Shirwal plant aims to ensure a lower toxic environmental impact with its products. The
plant has four refrigerator manufacturing lines and a separate line for making the Chotukool, dubbed
the cheapest refrigerator in the country. Chairman and Managing Director of Godrej and Boyce
Manufacturing Company, spoke at a recent event about several ongoing green programmes at Godrej.
Godrej and Boyce is the holding company of the Godrej Group, and has 14 diverse businesses. The
company's ‘Good & Green Vision 2020' aims to ensure.25 per cent reduction in energy consumption,
achieve zero waste and carbon neutrality, and have one-third of its portfolio revenues comprise green
products and services. Jamshyd Godrej said manufactured products will need to be green and the
future of any product will be a blend of satisfaction and sustainability. The future of products and
manufacturing would soon be to serve a higher level of needs for consumers. “Catering to the higher
level doesn’t mean more expensive, it should bring a higher level of satisfaction,’”” He said. At
Godrej’s Shirwal plant, several initiatives have been taken towards material conservation and
increasing the percentage of recycled material. An official said the percentage of recyclable content in
refrigerators, washing-machines and air-conditioners has been increased to 97 per cent, and 100 per
cent, respectively. The plant has reduced the use of packaging material by 21 per cent in the last three
years, by switching from carton packaging to biodegradable material packaging. The unit has also
taken several initiatives to reduce the consumption of toxic and hazardous substances by an average
of 50 per cent. :

128. Godrej aims to cater for higher level of needs of customers, which implies making items which

are
(1) more costly. (2) having attractive looks.
(3) more satisfying. (4) None of these
129. By the year 2020, Godrej plans to ensure
(1) zero waste. (2) 25% reduction in consumption of energy.
(3) carbon neutrality. (4) All these

130. At Godrej's plant at Shirwal, constant efforts have been made to increase the percentage of
recycled material and the progress made in this regard has been

(1) not at all satisfactory. (2) just about adequate.
(3) almost satisfactory. (4) quite good.

131. As per the case, which of the following statements is 'not true'?
(1) Godrej is the largest player in the home appliance segment in India.
(2) Godrej and Boyce are involved in numerous business activities.
(3) By using biodegradable material packaging, the use of packaging material has been reduced.
(4) None of these

15-AM/K/XX-X31 35



gfRfRafe-vil

et o e seferawer ¥ 59 af R R O WY @ prEn § dwiim o gl o
ﬁué,nﬁmg@mm{ﬁiaﬁ}.ﬁwwmmﬁM$mﬁwﬁlwﬁ
mﬁa‘mmﬂ@qﬁ(ﬁm#}mésﬁﬁl,ssuﬁémﬁwmﬂmﬁm%ﬁiﬁm
R R&T TR AR o/ R ue v | fed anfdfe wu (vwy € uw) @ At d5% @ Wi W Mo
wﬁﬁmﬁﬁwm%ﬁiw.m,mﬁmmmmﬁ % fos
a1 & | T W ¥ ARA D WY A, A, T, Tord! I, R PRAT SR FH DT VAR A
T FY TEE @1 7E | Sefwret ¥ 97% WA W £ o aprer A et ¥ vord g @ fer "gw B9
% T T SR WY T, R A 85% ¥ wET 6 & wrod e O, Ored 4 v § waw wmr
ST QT Y | At arferaven @ AR ¥ 38% Wda @ € 3t 2021 % Aaw srefarawn #

w@ww@ﬁmﬁ@mﬂ#ﬂﬂﬂmmmﬁlmmmm#

6% A1 & 3t 3 e 5 3 2021 ¥ AT BTN B gy A WA F IR F FHT e §
ﬁaﬁraﬁaﬁwﬁm%mhwmﬁqﬁqwzﬁaﬁﬁm%maﬁﬁﬁmvﬁﬁﬁm
mwﬁﬁﬁﬁmﬁa1s%w§uﬁﬁaﬂ150%mﬁﬁ€raﬂwﬁlﬁwﬁm?§mﬂwﬁ
wmwﬁwéwﬁwm%ﬁas%ﬁém%mﬁmmm
ﬁﬁﬁﬁtmﬁmmmlﬁqﬁéﬁﬂrwﬁmﬁﬁﬁwﬁm@mmﬁm
ﬁﬁﬁmgm%@mﬂﬁﬁmwﬁmmmww%l

132, WA W € 3 B W o Aet weegel W frefefea # @ w87

(1) T H TS TG (2) G&9 SO Wl SR
(3) IR # SAR-9FE @) 3 i

133, Rufy 3 IuR frefafed ¥ § B FuF W& TE 87
&, =T anfieT 3 srfarEwen, AR ¥ seferEen ¥ e yEe w @ 8|
@, =for SRar B arfaawer ¥ aoit o <& B
T, A @ arefarawern § | o ¥ E |
(1) &a9a1 & Q) A T
(3) BT @ (4) T =Y

134, Proe Wi § wog gfg @ IR F sty g @ € o
(1) By FPrramard & (2) go wrw fifee =& §
(3) BIPT ATl € (4) erufdrs sifAfded €

135.W$WWWWﬁwﬁrﬁﬁﬁﬁ#ﬁrﬂ&wﬁﬁMMq&:mﬁ@ﬁ
(1) gt ) &
(3) =farr PR (4) 3 wh

1 5-AM/K/XX-XX/ 36



Situation-VII

Indian Chief Executive Officers (CEOs) have emerged as the most optimistic globally as far as
improvement in the global economy this year and long-term revenue prospects of their own
businesses are concerned. However, the growing Indian market is “decelerating,” a survey of 1,330
CEOs across 68 countries by Pricewaterhouse Coopers’ (PwC) has found. India is decelerating in
comparison with Brazil, Indonesia and South Africa, the PwC survey released here last night on the
sidelines of the World Economic Forum’s (WEF’s) annual meeting showed. The survey identified
China, Mexico, Russia, Saudi Arabia, South Korea and Turkey as decelerating along with India. In
the long term, 97% of Indian CEOs were found to be “somewhat or very confident” of revenue
growth over the next three years, out of which 85% said they are very confident, making them the
most optimistic in the world. About global economy, 38% of Indian CEOs anticipate improvement in
the global economy in 2021, making them the most optimistic across the world. Globally, 36% of
CEOs surveyed said they were “very confident” of their company’s growth prospects in 2021, down
from 40% last year. About the overall economic scenario, 28% expect further downtrend in the global
economy this year, while only 18% expect an improvement and more than 50% expect it to remain
same. However, the confidence level has improved on this front, as 48% of CEOs expected a decline
in the global economic scenario last year. Finding the right talent for businesses, lack of stability in
the markets and growing regulatory and tax burdens are some of the problems faced by CEOs, the
report said.

132. Which one of the following is/are important difficulty(ies) encountered by Indian CEOs?
(1) Problems concerning taxations.
(2) Procuring competent manpower.
(3) Market fluctuations.
(4) All these

133. As per the situation, which of the following statements is not true?
A. Economy of South Africa is performing better than that of India.
B. Economy of South Korea is accelerating.
C. Chinese economy is decelerating.
(1) A only (2) C only (3) B only (4) All these

134. With regard to revenue growth in the near future, most Indian CEQ’s are
(1) quite pessimistic. (2) not much concerned.
(3) quite optimistic. (4) extremely uncertain.

135. When compared with India, economy of which of the following countries is also ot
accelerating as of now?

(1) Turkey (2) Russia (3) South Korea (4) All these
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Directions (Questions 136-150): Each of these questions has a statement based on the preceding
passage. Evaluate each statement and mark answer as

(1) if the statement is a Major Objective in making the decision: one of the goals sought by the
decision maker.

(2) if the statement is a Major Factor in making the decision: an aspect of the problem, specifically
mentioned in the passage, which fundamentally affects and/or determines the decision.

(3) if the statement is a Minor Factor in making the decision: a less important element bearing on or
affecting a Major Factor, rather than a Major Objective directly.

(4) if the statement is a Major Assumption in making the decision: a projection or supposition
arrived at by the decision maker before considering the factor and alternative.

Passage-I

Commeree and industry minister is hopeful that India will break into the top 25 countries on the
World Bank’s ease of doing business index, which ranked the country 14 notches up to 63 among 190
countries in this year’s index. The minister said the government will closely work with the states to
make it easier to start business, ensure contracts are properly executed and respected, and empower
businesses with a stable policy and regulatory regime in order to reach the top 50 ranks. “By 2024-25,
we would like to break into the top 25, but that is a very big challenge and one must appreciate that
only the top progressive and highly developed economies are in the top 25,” said Goyal, who is in
Stockholm to attend the 19th Indo-Swedish Joint Commission and is leading the Indian delegation.
India has been ranked ninth among the most improved, with a score of 3.5 in the change in ‘Doing
Business’ score. “I think investor sentiment is already looking up. I's a mix of several
factors—demand, capacity utilisation, international situation, global challenges and how the trade
wars pan out, availability of capital,” he said. The report assesses improvement in ease of doing
business environment in Delhi and Mumbai but Bengaluru and Kolkata too will be accounted for in
the index from next year. Goyal added that the recent reforms such as reduced corporate tax rate will
be a very powerful tool to attract investments as India’s tax rates are now comparable to developed
economies and those in Southeast Asia. “Steps are being taken in terms of making availability of
land, working with the environment ministry and handholding investors to get clearances much faster.
We are also looking at cluster approach sectorally to encourage industries with common facilities for
testing and effluent treatment,” he said. To attract investment, the government has also offered
countries including Sweden to create ‘investment enclaves’ for their investors with ready plug and
play infrastructure that will help in creating an enabling ecosystem.

136. The government intends to reach the top 50 ranks of World Bank’s ease of doing business
index.

137. Breaking into the top 25 countries on the World Bank’s ease of going business index is a big
challenge.

138. Government has recently reduced corporate tax.
139. Government is taking steps to make land available for doing business.
140. The Government wants to attract investments by other countries in India.
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Passage-II

The government should focus on enabling micro entrepreneurs in small towns, which will give a fillip
to local economies and drive consumption, experts said at the ET India Dialogues Panel discussion.
An employment crisis is brewing as economic growth has slowed to a six-year low. The Periodic
Labour Force Survey (PLFS) of the National Sample Survey Office (NSSO), released in May,
showed that the unemployment rate in financial year 2018 was 5.3% in rural India and 7.8% in urban
India, resulting in an overall unemployment rate of 6.1% — a 45-year high. “There is job creation in
the country, but the problem is these jobs don’t pay enough. There aren’t enough high-quality jobs.
High-paying jobs are getting automated. We should have more jobs where people are. This will create
small economies and consumption will go up in small towns,” said TV Mohandas Pai, chairman of
Aarin Capital, a venture firm. Pai said 70% of economic growth comes from consumption, while the
rest is from investment. ‘“The government should look at urbanising 5,000 small towns in India,
decentralise employment policymaking at the state and district level and incentivise employment
generating industries. Each state should have a job policy within the state, district-wise based on their
economic “conditions,” Pai said. Gunjan Krishna, commissioner for industrial development,
Karnataka, said the state government was incenti vising employment and wants to make sure there is
gainful employment. “We require entrepreneurship and job growth, both. It is not either-or. If we
don’t push technology, we will be left behind,” she said. Sudhir Sethi, founder of Chiratae Ventures,
 said the best way to create micro-entrepreneurs in the country was to direct excess capital lying with
listed firms to the new economy and encourage people to stay back in small towns and villages rather
than migrating to urban areas.

141. Micro entrepreneurs in small towns need to be enabled.
142. Economic growth has slowed to a six-year low.
143. Small economies should be created in the country.

144. The state government wants to make sure that there is gainful employment.

145. High paying jobs are getting automated.
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Passage-111

India’s largest carmaker Maruti Suzuki saw better-than-expected net profit for the quarter ended
September at Y1358 crore, as the corporate tax benefit extended by the government helped offset a
steep fall in sales. Maruti Suzuki termed the quarter as worst seen in recent times due to the economic
slowdown, but suggested there were some green shoots of recovery sparked by the ongoing festive
season. Net profit of ¥1358.6 crore for July-Sept quarter was down 39% year-on-year, the steepest
decline in 32 quarters, yet it exceeded Bloomberg’s consensus of ¥ 1032 crore. Operational
performance, however, remained grim, with operating profit declining 53% and the EBIDTA margin
slipping 582 basis points to 9.47%. A 30% drop in sales volumes pulled down Q2 revenues by 23%
to ¥16120.4 crore. The effective tax rate for the company was 23% against 28% it paid for the same
period last year, supporting net profit. “The demand was worst hit with rising acquisition cost and
confusion surrounding the expected GST benefit for vehicles. We had a volume de-growth of over
33% and the discounts in the market place further went up. However, in the last week of September,
there was sign of pickup in demand due to festivals,” Seth told Newspaper. With the second plant
from Suzuki coming on stream by January of 2019, capacity utilisation has come down to 79% in the
first-half of this fiscal, Expecting the market to bounce back in the mid-term, the management said it
is not slowing down its investment plan of 4000-crore for the year and even the third plant from
Suzuki will come up as scheduled.

146. A corporate tax benefit was extended by the government to Maruti Suzuki.
147. A recovery from the economic slowdown in Maruti Suzuki was expected.

148. There was a 30% drop in sales volumes of Maruti vehicles.
149. There was a confusion surrounding the expected GST benefit for vehicles.

150. Maruti Suzuki does not intend to slow down its investment plan of 4000 crore for the year.
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